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Note : Question no.1 is compulsory. Attempt any 8 questions 

from Q.2 to Q.10. 

1. 	(a) 	Nida plays guitar, State two different 	4 

mathematical concepts she finds useful 

while playing guitar. Justify your answer. 
(b) Enlist at least four objectives for teaching 	4 

mathematics at primary level. Explain each 

with the help of an example. 
(c) Differentiate between 'concrete to abstract' 	4 

and 'particular to general,' with the help of 

suitable mathematical examples from daily 
life. 

(d) Given below are some fractions represent 	4 

them pictorially : 

1 1 5 	2 3 — + — — 
2 	3 	6 	(11) —4 — —6 (i) 
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(e) 	'Paper folding activities are helpful in 	4 

learning mathematics'. Explain the 

statement with the help of two suitable 

examples in different context. 

(a) Give two difficulties, children of class 6 	6 

usually face in understanding the concept 

of integers. Suggest one activity each to 

address these difficulties. 

(b) What is the difference between repetition 	4 

and rote learning ? Explain this in the 

context of introducing children to 

multiplication of numbers. 

3. (a) Flow will you introduce the concept of 	6 

division to a group of 30, class 3 children ? 

Give two activities related to this in detail. 

(b) Assessment should be an integral part of 	4 

instruction. Describe two distinct strategies 

for assessing children's understanding of 

equivalent fractions. 

4. (a) Explain the term perimeter and area with 	5 

the help of suitable pictures. Give a detailed 

activity for class 5 children to help them 

understand the relationship between them. 

(b) Wh,it is meant by the term angle ? What 
	

5 

are the mistakes children usually make while 

measuring angles .? List four of them. 
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5. (a) Explain the term generalization in the 	6 

context of introducing variables. Give details 

of an activity you would plan to help 

children understand the concept of a 

variable. 

(b) Some children think mathematics is boring 	4 

and difficult subject. Why do they think 

so ? Give two possible reasons. Enlist at least 

three ways through which mathematics can 

be made interesting for children. 

6. (a) Explain the significance of word problems 	6 
in mathematics giving reasons for your 

answer. Convert the followiup  

mathematical statements to word problems. 

5+ 3= 8 

1 = 4 
4 

(b) 	How can the skill of estimation help -us ? 	4 

Give one example related to number 

operation and one related to measurement. 

7. (a) 	Enlist at least two pre-number concepts and 	6 

detail out one strategy each to help children 

learn these pre-number concepts at pie-

primary and primary level. 

(b) 'Children know some mathematics before 	4 

they enter formal school'. Justify the above 

statement with the help of two clistioct 

examples. 
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8. (a) 	What is the E-L-P-S. sequence of learning a 	8 

concept ? Illustrate this sequence in the 

context of learning the concept of place 

value. 

(b) 	Write (275)10  in base 6. 	 2 

9. (a) Rama solved a problem in the follow no- 3 

manner. 

Hours Minutes 

3 47 

2 56 

6 03 

What is the probable logic she has used ? 

How would you help her understand the 

error she has made ? 

(b) What is meant by an 'instant of time' ? Give 	3 

an example that distinguishes it from an 

'interval of time'. 

(c) What is a line of symmetry ? Give an 	4 

example of a plane figure with exactly two 

lines of symmetries. Describe an activity to 

develop an understanding of a line of 

symmetry. 
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10. Classify any five of the following statement as 
true/ false giving justification for your answer. 

(a) Children learn by imitating adults. 	2x5=10 

(b) To help children learn measurement we 

should begin with standard measuring 

scale. 

(c) All squares are rectangles but all rectangles 

are not squares. 

(d) Algebra is generalized mathematics. 

(e) All rational numbers are integers but all 

integers are not rational numbers. 

(f) Repetition is as boring as rote memorization. 

(g) When a child can recite numbers it means 

child has learnt the concept of counting. 
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